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PROBLEM 1: (30 points)

B4
Determine  the  two
possible magnitudes for 1000 Ib
P so that the resultant N
force F, has a \
magnitude of 800 1b. 4 3’
Determine, then the two
corresponding directions B n--x
of FR ' /\
135 2601b 24 N
N.B.: 12 P
All forces are contained
in the x-y plane.
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PROBI.EM 2: {35 points)

Boom AB is held in the
position shown by three
cables. Knowing that
the tensions in cables

AC and AD
are F,r = 4 kN and
FA[) = 52 kN

respectively, determine;

The tension £,z in cable
AE. _and force Fp, in
boom 4B, when point A
is in the equilibrium
position shown,
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PROBLEM 3: (35 points)

Determine the moment

of the force F, acting _‘ $
along line AB as shown, B \ )
about axis a’a. o 0 aNE=3D1b
a' Ty - o
Express the result as a LT Som
Cartesian Vector. x 127,
156
N.B.:
Point B and axis a’a lie
In the x-y plane.
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